N = 0l & At & Ml A

Az =SNBE= SN SN
Hu: 2O EMEPE
S9l: NASS 4BOH X8 (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
2= 226,887,055 222,611,479 4,275,576
= 111,448,416
Xl 435,058
J| 1,889,519
< 25,500,548
Al 87,613,514
SXE M 25,454,067 25,435,763 18,304
= 10,853,910
Xl 358,437
J| 111,400
< 1,777,754
Al 12,352,566
I=HE828d 998,916 764,578 234,338
= 482,828
J| 111,400
= 45,500
Al 359,188
ASET MHEotE K 998,916 764,578 234,338
2 482,828
J| 111,400
= 45,500
Al 359,188
222X X& A 437,500 478,250 240,750
= 350,000
< 17,500
Al 70,000
301 et a3z 437,500 478,250 240,750
= 350,000
< 17,500
Al 70,000
01 MEIBE X253 437,500 478,250 240,750
Oo2da=x 437,500,000& = 14 437,500
= 350,000
= 17,500
Al 70,000
AR 2SS A 56,000 64,000 A 8,000
< 28,000
Al 28,000
301 gt d= 56,000 64,000 A 8,000
< 28,000
Al 28,000
01 MEI2EZE 05z 56,000 64,000 A 8,000
Oxas 23X 56,000,0009 * 14! 56,000
< 28,000
Al 28,000
AT SeAtelZel X 15,000 25,000 A 10,000
= 7,500
Al 7,500




AR =2NEE= SN =XEED
Hu: 2O EMEPE
H?: HASES HEy N (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
201 Le-2d| 7,500 7,500 0
= 3,750
Al 3,750
01 At 22l 7,500 7,500 0
OZEAN SEAd2e 294
7,500,000& = 14 7,500
= 3,750
Al 3,750
301 gEtE L= 7,500 7,500 0
= 3,750
Al 3,750
01 MEI2EZE+05l= 7,500 7,500 0
OZEAN SEAAZEl ALY
7,500,000& = 14 7,500
= 3,750
Al 3,750
Sgs %EE SEAMdA N& 132,400 74,000 58,400
= 64,680
Al 67,720
201 £Br2%H| 61,200 0 61,200
= 32,340
Al 28,860
01 At 22/l 61,200 0 61,200
OsSts X558 SEMHIA 23
4,200,000& » 11004 46,200
= 32,340
Al 13,860
OSHE 958 SEAMUIA 2 (AIBIZI
1,500,000 * 100H £ 15,000
301 gt d= 61,200 74,000 A 12,800
= 32,340
Al 28,860
01 Ml2ZE 6= 61,200 74,000 A 12,800
OSHs X558 SEAMHIA AE
4,200,000 » 11004 46,200
= 32,340
Al 13,860
OSHE &8 SEAMUIA AL (AIBIZD)
1,500,000 * 100H £ 15,000
405 XHoHF S HI 10,000 0 10,000
01 AL 2 ZFH S| 10,000 0 10,000
OsHE &5 SEAMUIA =& IR (A
HI=0t) 5,000,000& * 202 10,000
SehArd &2l AL el A4l XIT& 121,296 117,408 3,888
= 60,648
Al 60,648




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
101 14 Hl 121,296 117,408 3,888
= 60,648
Al 60,648
04 JIZHHZ22XREES 121,296 117,408 3,888
OSgAtd ZelAt 29 121,296,000& * 14 121,296
= 60,648
Al 60,648
ROt EXMEIA TSI 222,800 0 222,800
J| 111,400
Al 111,400
405 RHoHE S HI 222,800 0 222,800
J| 111,400
Al 111,400
01 AL ESFH SH 222,800 0 222,800
O0Ite SXAAMEIA HEXA
222,800,000 = 14 222,800
J| 111,400
Al 111,400
S8s SXoEs =& €A A2t 10,920 5,920 5,000
201 Lt 5,000 0 5,000
01 At 2t 2l 5,000 0 5,000
O88s =XdEs =& X L3t
5,000,000& =+ 14l 5,000
202 Od4dl 5,920 5,920 0
01 = LH o4 1l 5,920 5,920 0
Oged=R L2 =& 20,0008 * 4F = 743 5,920
ZE5 e EAEXNANAIAEH 2L 3,000 0 3,000
201 et 3,000 0 3,000
02 2324l 3,000 0 3,000
OUSs Yo BAZNANALEY 2¢
250,000& * 123 3,000
AN Arg =SR2 A= 2,167,162 2,112,796 54,366
= 72,000
Xl 358,437
< 352,705
Al 1,384,020
FOMETIA MHA 529,821 692,951 A 163,130
Xl 358,437
=) 30,423
Al 140,961
NATEE MIMUA EXNAS(EX)(ME) 512,053 677,143 A 165,090
Xl 358,437
=) 30,423
Al 123,193




M ox
40 5 4

=

S A AtE X018

D ExsE=

2=

D FUMETR MHIA

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
201 Bt 3,500 3,500 0
Xl 2,450
Al 1,050
01 AP 22| H| 3,500 3,500 0
OXEX=s=s AISIHHIA SEXNAIYE &9
3,500,000& = 1A 3,500
Xl 2,450
Al 1,050
202 o4 | 1,500 1,500 0
Xl 1,050
Al 450
01 2L HI 1,500 1,500 0
OXNEXEY AlslAMHIA EXAME 29 O]
1,500,000 = 14! 1,500
Xl 1,050
Al 450
307 2Iz2t0| & 507,053 672,143 A 165,090
Xl 354,937
o= 30,423
Al 121,693
05 QIZtR E 2 507,053 672,143 A 165,090
OXEX=s=E AIsIHHIA SEXAIYE X &
507,053,000& = 1A 507,053
Xl 354,937
& 30,423
Al 121,693
K GAFS AHHI A AAHAS 17,768 15,808 1,960
201 gBt24y| 13,328 11,368 1,960
01 AP 2t 2| H| 10,400 9,400 1,000
OXNE=EXNAIY 22| 2,000,000 = 14! 2,000
OU=23 SAAIY 23]
4,400,000€ = 1Al 4,400
O=SXXNIA=EEE M 4,000,000& = 1A 4,000
02 32%H| 2,928 1,968 960
OAdl 221828 sUHNE 22
30,000 * 404 = 12&€ 1,440
OZ2XAMAANN =2 g2 sUHES 223
80,000& * 1§ » 12&€ 960
O22=2X 129 24H N33
22,000 * 204 = 12&€ 528
202 0iH] 4,440 4,440 0
01 201t 4,440 4,440 0
OXe=2Xde =80
20,000& = 3H * 743| 4,440
SEIANE 29 I 602,090 551,355 50,735
=} 16,905




N EEE SN =SXEHD
g NS Ate SX0e 75
&2 EXNAE 28 X )
- _ — d =
224 ZBS(AN) - HRAY - BES e 2
Al 585,185
SEAMsEXNZ 28 N 439,870 387,000 52,870
307 glz2tol & 439,870 387,000 52,870
10 AL SXAIEEHE 2 H EX 439,870 387,000 52,870
OZgAs =R 22X &
439,870,000& = 14 439,870
EHAEXNZO0 MIISRRA SAH| 72,450 72,450 0
301 gt d= 72,450 72,450 0
0B A =R RAB NS 72,450 72,450 0
OMEIEXAE ASI=ER23 SAH|
7,000&3 = 459 » 230 72,450
HARAS RI28 N 16,000 16,000 0
301 et A= 16,000 16,000 0
01 AR 2Z A 53 16,000 16,000 0
O0d2HE /23 XN&  8,000,000& * 23] 16,000
M2 ZSXAIE SAMX =X K& 66,600 64,080 2,520
< 13,320
Al 53,280
307 gl2tol & 66,600 64,080 2,520
< 13,320
Al 53,280
10 AL SXNAIEEE2EH EX 66,600 64,080 2,520
OMEIEXAIE SAL XY XS(SEASE
s 2) 66,600,000& * 14l 66,600
= 13,320
Al 53,280
AMZISXAESALA doll28 It X 7,170 11,825 A 4,655
< 3,585
Al 3,585
307 gl2tol & 7,170 11,825 A 4,655
< 3,585
Al 3,585
06 283 7,170 11,825 A 4,655
OMSBISXIAE SAX AciE2E ot XA
7,170,000& = 14 7,170
< 3,585
Al 3,585
HE=X 23 =4 1,035,251 868,490 166,761
= 72,000
< 305,377
Al 657,874
CXtd ot SEX& 354,841 394,050 A39,209
= 70,968
Al 283,873




AR =2NEE= SN =XEED
Ha: KAAE =X0I8 RS
oSl MA=R #Y FA CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
301 et d = 354,841 394,050 A 39,209
< 70,968
Al 283,873
01 MEI2EZE 45z 354,841 394,050 A 39,209
OCXHIIE SEXE 354,841
oUXEIE tHergsts N&
40,000,000 = 14l 40,000
< 8,000
Al 32,000
ScOUXNEHINE DWstiis N&E
314,841,000& = 14 314,841
< 62,968
Al 251,873
24 JHEH X3 ALY 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
11T MISRASEX 10,000 10,000 0
OXHEHN &Es 2EAY
10,000,000& « 14l 10,000
JHS2 JseEd 40,000 0 40,000
= 20,000
Al 20,000
401 A& HIZ 201 Y] 22,000 0 22,000
< 11,000
Al 11,000
01 A& HI 22,000 0 22,000
O&Hsl2 Jls22d 22,000,000 = 14l 22,000
< 11,000
Al 11,000
402 2I2tXE201 & 18,000 0 18,000
< 9,000
Al 9,000
02 It 2 AL EZ(OI XM THS) 18,000 0 18,000
OdlHz 2 Jis2d ¥I7¢
18,000,000& * 14 18,000
< 9,000
Al 9,000
HHASEX St X 156,000 156,000 0
< 156,000
301 et a =z 156,000 156,000 0
< 156,000
01 MEIBEE 263 156,000 156,000 0
OdHesEk =&t X
100,000& * 130 * 123 156,000
< 156,000
ANAMEHE2AM 2 105,000 76,000 29,000




ENEEES A 2XEYY

A= 222 &
M XSAE X0 25
chelr HE=X Y E4 (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 6,000
Al 99,000
307 2iz2to| A 105,000 76,000 29,000
= 6,000
Al 99,000
02 QIZ2IAAAIE E X 21,000 0 21,000
OSHE NGAISIBEEEAN 2435
21,000,000 * 14l 21,000
10 MM SAANEEHESIGHEX 84,000 76,000 8,000
OXNGAMIABEEEAM S 43t
30,000,000 = 14! 30,000
& 6,000
Al 24,000
OXNEASBHSEOM EA3H(AIHI=DH)
54,000,000 = 14! 54,000
NEAMIIBHEAM d=2UE X 122,000 5,000 117,000
= 72,000
= 25,000
Al 25,000
307 2iz2to| A 122,000 5,000 117,000
= 72,000
= 25,000
Al 25,000
11T AISIEXAIEEX 122,000 5,000 117,000
OHM123 NEAMSEESEAM =203 X
122,000,000 * 14! 122,000
= 72,000
= 25,000
Al 25,000
MNSIEXUHE X& 5,000 0 5,000
307 2iz2tol & 5,000 0 5,000
11T A EXAIEEX 5,000 0 5,000
OHM143 A= XS A K&
5,000,000& = 1A 5,000
MEEXE23 &4 A 80,000 75,000 5,000
= 13,000
Al 67,000
307 2Iz2t0| & 80,000 75,000 5,000
= 13,000
Al 67,000
10 M SXNAEEHESIGHEX 80,000 75,000 5,000
OME=2EXNES &9 XS
65,000,000 * 14! 65,000
= 13,000
Al 52,000
OAEEXEs 29 XK (ALl =)
15,000,000& = 1A 15,000
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AR =2NEE= SN =XEED
g NS AMe =018 7=
Sl MR=X BY EH CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 5,000 0 5,000
04 DI2HHALALSE E X 5,000 0 5,000
ONEM=I= XA 5,000,000 = 14l 5,000
ZoHe =X 52 19,812,653 20,379,089 A 566,436
= 10,299,082
=) 1,376,449
Al 8,137,122
oo =23t - M=sgs XA 45,000 45,000 0
ZOHQl ALK& 45,000 45,000 0
307 glz2tol & 45,000 45,000 0
11T M ZXASE EX 45,000 45,000 0
OZOML =S HAXH 45,000,000 = 14l 45,000
FOHA=EXAE 29 XA 8,155,962 9,222,880 21,066,918
= 2,997,081
< 366,342
Al 4,792,539
o= 24 1,352,000 1,342,000 10,000
307 glz2+ol & 1,332,000 1,332,000 0
10 ALSISXAIEEE2EHEX 1,290,000 1,290,000 0
O =x2 2HXE 1,290,000
ocZfel=X2 2% 1,255,000,000& * 14l 1,255,000
oTMUSXZ PUAY B4 X
35,000,000& * 14 35,000
11T MISXASEX 42,000 42,000 0
OZOiQ PSTHEHA 2% N
42,000,000 =+ 14l 42,000
402 BIZHXHE 0| A 20,000 10,000 10,000
01 2I2EH 2 A B (KM ) 20,000 10,000 10,000
OZMA=SXZ JIsEL ALY
20,000,000& =« 14l 20,000
ZOHQ SXAE g 2 60,000 70,000 A 10,000
402 QI2H X201 M 60,000 70,000 A 10,000
01 2I2F 2 A B (KR 60,000 70,000 A 10,000
OFMe EXAE g 2
60,000,000& = 14 60,000
ZOHQ AFAIE 2E X& 4,105,714 4,275,714 A 170,000
= 2,873,999
< 246,343
Al 985,372
307 gl2tol & 4,105,714 4,275,714 A 170,000
= 2,873,999
< 246,343




a2 =2x83=2 SN =X
Hm: mojol =X =A
Gl ZHoIEXAE 29 X (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
Al 985,372
10 MM SAANEEHESIGHEX 4,105,714 4,275,714 A 170,000
QTR HEAIE 2T (3MHA)
4.105,714,000&¢ = 14! 4,105,714
= 2,873,999
& 246,343
Al 985,372
HOAHZ=AILE JIsEL 226,164 1,457,300 N 1,231,136
= 113,082
& 33,924
Al 79,158
402 SI2FXHE0| & 226,164 1,457,300 N1,231,136
= 113,082
&< 33,924
Al 79,158
02 BIZXIEANYEX(0OIETHH) 226,164 1,457,300 N 1,231,136
OZMAHTALY JIsB2(4MA)
226,164,000 = 14l 226,164
= 113,082
& 33,924
Al 79,158
ol AATEANE 29 548,253 476,700 71,553
307 2iz2tol & 548,253 476,700 71,553
10 MM SAANEEHESIGHEX 548,253 476,700 71,553
OXOHQ HNATHEAIE S L X2 (3MA)
548,253,000& = 14 548,253
ZOHC MNATMEALE JsEBH 20,000 0 20,000
= 10,000
o= 3,000
Al 7,000
402 BI2H X201 M 20,000 0 20,000
= 10,000
= 3,000
Al 7,000
02 QIZEXIEAIS EX (0| XM THL) 20,000 0 20,000
OXSMMEANAE DsEY 20,000,000 = 14! 20,000
= 10,000
& 3,000
Al 7,000
ORI SO HF=AIE 22F I 171,442 157,500 13,942
307 giztol A 171,442 157,500 13,942
10 MM SAANEEHESIHEX 171,442 157,500 13,942
OFOMC SHIAHFANE 29
171,442,000 = 14! 171,442
Z0C sSMEIIAE 229 256,810 240,000 16,810




a2 =2x83=2 SN =X
Hm: mojol =X =A
thel: ZOH=EIAE 28 X (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 256,810 240,000 16,810
10 AL SXAIEEE 2 H EX 256,810 240,000 16,810
OSSdEIIE 2 X (6MHA)
256,810,000& * 14 256,810
oo SSHEIE HMYHE K& 10,692 0 10,692
< 2,138
Al 8,554
307 21201 A 10,692 0 10,692
< 2,138
Al 8,554
10 AL SXNAIEEE2EH EX 10,692 0 10,692
OXHe SSMEIHN ez X2
10,692,000& * 14 10,692
< 2,138
Al 8,554
el AMDAE X 8,400 6,000 2,400
< 1,680
Al 6,720
307 21201 A 8,400 6,000 2,400
< 1,680
Al 6,720
10 AL SXNAIEEE2EHEX 8,400 6,000 2,400
oeled MaAE 29 X2
350,000& = 2JH 4 * 12& 8,400
< 1,680
Al 6,720
Zoel F2AESAE 2% 510,441 360,000 150,441
307 21201 A 510,441 360,000 150,441
10 ALSISXAIEEER2IHEX 510,441 360,000 150,441
OO F2AEBSAIE 2 (3Ma)
510,441,000& = 14l 510,441
ANZEC MREHH 24 279,560 279,560 0
307 21201 A 279,560 279,560 0
10 ALSISXAIEEE2GHEX 279,560 279,560 0
OAZZHe MESHH 29
279,560,000 » 14 279,560
F2EMe =3sHdyH 299 183,280 182,180 1,100
307 glz2+ol & 183,280 182,180 1,100
10 ALSISXAIEEE2EH EX 183,280 182,180 1,100
OHATOHQ +3EAHME 2
183,280,000& * 14 183,280
Zopel clASAtE 29 X2 78,886 74,886 4,000
< 11,577
Al 67,309




DM =X
CEMYSXAIE

M ox
40 5 4

D EXsa=2

= =S T

x Ol

- _ — d =
A SA - SAEA) - MRAY - BES e 2
307 glz2tol & 78,886 74,886 4,000
< 11,577
Al 67,309
10 ALl SXAIEEE 2 H EX 78,886 74,886 4,000
OZOQ IFSAIY 2 XE
57,886,000& * 14 57,886
< 11,577
Al 46,309
OFofe IASAa 29 XI& (ALl =)
21,000,000& =« 14 21,000
FOHAANFAIE HEH XA 64,800 57,600 7,200
< 12,960
Al 51,840
307 gl2tol & 64,800 57,600 7,200
< 12,960
Al 51,840
10 ALl SXNAIEEE2EH EX 64,800 57,600 7,200
OFZOML AFAE dFAHAXE
64,800,000& = 14 64,800
< 12,960
Al 51,840
OIS XAE XNJAAE 2934 5,920 5,920 0
202 04l 5,920 5,920 0
01 = LH 4 Hi 5,920 5,920 0
OZMA=XER =304
20,0008 = 4H = 743 5,920
OIS XAE SAR =X X 273,600 237,520 36,080
< 54,720
Al 218,880
307 21201 A 273,600 237,520 36,080
< 54,720
Al 218,880
10 ALSISXAIEEER2IHEX 273,600 237,520 36,080
OZHM=XAE SAL 2X=E XA
273,600,000& * 14 273,600
< 54,720
Al 218,880
oHel MEotyd XA 4,882,524 4,844,177 38,347
= 3,351,500
< 421,775
Al , 109,249
MAZO(HOHAHNFTAIE =3 360,000 360,000 0
= 324,000
< 25,200
Al 10,800
301 et a = 360,000 360,000 0




Zojol =X =X
Zojol MEOE X9 (SHol: @)
oSN (EH) - NEAY - B Ol At o ﬁlgﬁ HRE2
= 324,000
= 25,200
Al 10,800
01 Al B & A 46 2 360,000 360,000 0
OFOMAHAFTAE =X MAZSO
360,000,000& = 1Al 360,000
= 324,000
& 25,200
Al 10,800
20 2l EEX}E 29 AH 30,000 30,000 0
307 2iz2tol & 30,000 30,000 0
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